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. _ No. of Exam
Section Subject . Max Marks .
Questions Duration

General Intelligence &

Reasoning

Exam

* General Awareness

Pattern P 50
. . . minute
{:TiE'-I'—I:} EIIT]EI ical Aptitude ] :

General English

Total

Note: There would be a negative marking of 0.25 mark for every wrong answer attempted by the candidates.
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Points to Remember

Syllabus
Calculation
Speed and accuracy

Previous year Questions
Mock test & Analysis

A
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Number Systems, Tables and Graphs, CP T
Decimals and Fractions Mensuration,
Simplification, Time and Distance,

- \
Percentages, Ratio
Ratio and IM1on, lard Yinte)
Averages, Time and Work, etc.
Interest,
Profit and Loss,
Discount,

\
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Topic No of Questions Level
S.1, CI, Profit/Loss 02 Easy-Moderate
Mensuration 03 Easy-Moderate

Simplification Easy-Moderate
Time and Work Moderate

Speed and DlstancO Easy-Moderate

Average @ Moderate

DI (bar graph Easy-Moderate

€D
Percentage @ Easy

Miscellaneous Easy-Moderate
Total
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STUDY PLAN

* TOPIC -WISE STUDY

* PREVIOUS YEAR QUESTIONS
* MOCK TEST

* MARATHON CLASSES
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The selling price of 15 oranges 1s the same as the cost price of 19 oranges.
What 1s the approximate profit percentage?

15 Gl T Toishdl e 19 Hali o 3 Hed o Sl 2| STHIA AT Tfaerd rd
hifsTT)

s sf =19 ¢F
SV
Co_ \S
., _ G h\ed
NN < a) 15.34%
S -, b) 18.75%
A %6 oF c) 33.5%
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At an event there are 500 guests, among whom 28% are adult males, 64% are

adult females, and the rest are children. Find the total number of children at

the event.

wwﬁ%ﬂ%‘,ﬁqﬁﬁ 28% TER TGH, 64% TAEH WIGATE R
WY ool §l THIEHA W Toel shi el HEAT [T iUl
9y Adur e
SO 64/ 11 €®m

1o 7 a) 55
Rermoiv, Cloldwen,  b) 45

<& PpAR
D / R-A = B 7 .

Nii
_® (\/ > d) 50
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What is the average of the first 50 positive even numbers?

UEAT 50 &ATcHS U TEATHT Rl 37T Thd-T RT?

P = (A) e
Yo Ovevasg “% e -~ o

Yo
- e vl

—

9\|\/\lél%-’ B
G@Aﬁv a) 50.5

\4%__ b) 50
( > c) Sl

51.5
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A man buys a toy for Rs. 400 and sells it at a loss of 15%. What is the selling

price of the toy?
T St Ueh Rareii= 400 T3 # TriaaT § 3138 15% <6l aTi X 3w 307 21
it o fosra qear @ 22
_ S
S(= %ﬂ* :
X’E\J\ S \"“%—— a) Rs.350
b) Rs. 340

c) Rs.370
d) Rs. 360
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S1 and S2 can do a piece of work together in 18 days, S2 and S3 can do the
same work together in 27 days, while S3 and S1 can do it together in 54 days.

In how many days can all 3, working together, do 50% of the work?
S1 3R S2 UTEUR Teh ST i 18 TS § Ut oFX Hehd &, S2 3R S3 UREwR 3T i
Rl 27 T&HT H YUT ot Hehd &, STaTeh 83 3R S1 U 3 54 AT  quT ot Tehd &

A dT, TEA T, T AT 50% Tora= To1 W qul s gehd 8 2
2N So 0t Sn Sk
SS\_S-‘?S:;E 3\ \% 2.+ a) 8 days
%3\3\ -(3 - A b) 6 days
/‘Z\&S\k&k’&g? - & 3 c) 7 days
Taisais: %) &jr d) 9 days
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A policeman spots a thief at a distance of 200 m and starts chasing him. While
the policeman runs at a speed of 9 km/h, the thief runs at a speed of 7 km/h.
After how long will the policeman catch the thief?

Tek YfetarerH 200 Wit oY St ox Ueh <IR ol STt 3 3T 38Rt ST 1 % T
AT 2 gioreerdt 9 fordi/eier o o & Stgar &, R 7 ferei/der o o & dgar 8
GicTaeRHi fehdd THI ITE SR hl Tehs T 2

RS=alemin e :KD%QM\& = = \
NG
: ol TR \b)

3 minutes
%

¢) 10 minutes

d) 5 minutes
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Find the curved surface area of a cone whose radius of base is 7 cm and slant

height is 8 cm.
7 QHT R TR BT 3T 8 At hy faeien e arer vish &1 sk IS e

a) 132 cm?’
b) 198 cm?
L v ¢) 154 cm?
d) 176 cm’




SSC MTS 2022-23

The average of P1, P2 and P3 is 50. If the value of P1 is half of the average,
then what is the average of P2 and P3?
P1, P2 3R P3 &1 50 1 TS P1 T HIT 3T ATH hT TAT &, a7 P2 3TR P3

T TET FTA shiTaTU)
‘( Qr 4V = SowW3d =\SC
as X P \S__ii“
AR a) 55
A R b) 57.5

c) 63.5
d) 62.5
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Simplify the following expression.

FrateTiRaa sister &t T it
25+ 12 -2 + {(¥= 2}

&§+\g,%/9(

S\ =3 CQ/_

42
37
35
44
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A camp of soldiers has food for 200 days. After 20 days, 100 more soldiers join

the camp and the food now can last for 80 days. What was the initial number

of soldiers in the camp?
&frent 35 uam Frfare i 200 Rt 3 for mer Tt ST ¥ 20 B 3
forfer & 100 3 etferer afver o aftafera g1 9 & Kra@ v @rer ot serer
80 TaT deh Tl TR H OTfer # feraT e & 2

LE o TvakaeX o M\ 2\ Qcm\?’-':‘\_;__

WD\ = W\’L‘%
Bk B = oot Qs o 1

b) 100
c) 120

d) 80
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What is the value of 14 2/7 % of 301 + 12.5% of 184?
301 AT 14 2/7 % + 184 T 12.5% hT HTT T 22

64
70
66
68
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The value of ShT HTT AT TIT 2

[50 — 6(6 + 1)] + 8 + 18 is:

a) 18
b) 17
c) 19
A
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